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1. Direkt mit Faktorisieren: f(x) = x2(x−1)
2(x+1)(x−1) =

x2

2(x+1)
. lim
x→1±0

f(x) = ” (1±0)2
2·(1±0+1)

” = 1
4
.

h-Methode ohne Faktorisieren: lim
x→1±0

f(x) = lim
h→0

f(1± h) = lim
h→0

(1±h)3−(1±h)2
2(1±h)2−2 =

= lim
h→0

1±3h+3h2±h3−1∓2h−h2

2(1±2h+h2)−2 = lim
h→0

h(±1+2h±h2)
h(±4+2h)

= lim
h→0

±1+2h±h2

±4+2h
= ±1
±4 = 1

4
.

2. Definitionslücken: x2 − 3x+ 2 = 0 ergibt x1 = 2, x2 = 1.

Faktorisierte Form: f(x) = 2(x+1)(x−1)
(x−2)(x−1) = 2(x+1)

x−2 .

Vorzeichenbereiche: -
−1

Nullstelle
1
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f > 0 f < 0 f < 0 f > 0

lim
x→1±0

f(x) = lim
h→0

2(1±h)2−2
(1±h)2−3(1±h)+2

= lim
h→0

±4h+2h2

∓h+h2 = lim
h→0

h(±4+2h)
h(∓1+h)

= lim
h→0

±4+2h
∓1+h

= −4


